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Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.

Answer all guestions.

Answer the questions in the spaces provided

— there may be more space than you need,

Calculators may be used.

If your calculator does not have a z bution, take the value of 710 be
3.142 unless the question instructs otherwise,
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The total mark for this paper is 100

The marks for each question are shown in brackers

- use this as a guide as to how much time to spend on each question.
Questions labelled with an asterisk (*) are ones where the quality of your
written communication will be assessed.
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Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every guestion.

Check your answers if you have time at the end.
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8 A D

Turn over >

; Volume of prism = grca of cross scetion x length

GCSE Mathematics 1IMAQ
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit,
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| Arca of trapezium = 1 (a + b)#
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4 (1) w.:d_..v:@ m+m+m+mt+m 6 The line OF is a radius of a circle, centre O.

..... (a) Draw accurately the circle.

{b) Simplify 2p+7p

I .
i K ™
(¢) Simplify ¢xw x4 /
A kial , =g y
(1
Q |
{Total for Question 4 is 3 marks) u.h
: ; ..u. /
- 5 Here is a pictogram, M
It shows the number of boxes of chocolates Mr Fenn sold last week ™,
from Monday to Friday. \ /,/
S
Represents
Monday mm m mm 20 boxes of
chocolates
. ==|==
. ==1==I=
Thursday mm mu (b} On the circle below, draw a chord.
CA==I==I

‘What fraction of the total number of these boxes of chocolates did Mr Fenn sell
on Tuesday?

304+ 40+50+ 35445 = 200

(3

{Total for Question 6 is 2 marks)

(Total for Question 5 is 3 marks)

L A ™ = e
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™, I =,
¢ *10 Kitty and George sell cars. 11 Here is 2 list of numbers.

The table shows the numbers of cars sold by Kitty and by George in the first four ,V 11 12 i3 14 15 16 17 18 19 20

months of 2013 ;

From the list. write down

January | February | March April M (a) a factor of 24
Kitty 2 5 13 10
George 4 7 b 10

Show this information in a suitable diagram, (8) & multple of 7

(c) 2 square number

. . (Total for Queestion 11 is 3 marks)

12 Here is the number of goals a hockey team scored in each of 10 matches.

3 2 5 3 5 2 4

ess m 3 04 6 _
i Find 2R, 3, 3,3, 4,4, 5.5, 6
i (i) the median nm ..jlﬁq

e,

(i) the range

(ii1) the mean

ines 344+3+2 foeruK.TﬁA\
AEEE 1O

o
L Y Jin vErY h@é@ M oivchh Bﬁ.)._ (Total for Question 12 is ¢ marks)
Georze

{Total for Question 1{ is 4 marks)
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15 Here is a list of all the coins in Amire’s purse.

£1 5p 20p 1p
20p 1p 10p £1
20p 10p £1 20p
10p 20p 20p 5p
Complete the table for this mﬂaoaunaon..
Coin Tally Frequency
£1 i il 3
P o O
5 ipt1 | G
= (U 3
* AL 2
2p Q O
" i A

(Total for Question 15 is 2 marks)

B R

i3

Turn over >

- 16 Here is a cube.

(2} How many vertices does a cube have?

(b} On the grid. draw a net of a cube.

The diagrem shows a cube of side 3 cm.

(¢) Work out the total surface arez of this cube.

3L 3K 6

(4
(L

—r

Diagram NOT
g accurately drawn

—

2}
(Total for Question 16 is 5 marks)
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19 A picture is made from tiles,

The diagram shows the picture in the shape of a tectangle, 120 em by 100 cm.
It also shows a tile in the shape of a rectangle, 15 cm by 20 cm.

Diagram NOT
accurately drawn

picture 100 em dle 20 cm

15 cm

120 cm

(2) Work out the number of these tiles needed to make the picture.

| 20 x 100 - | Rov
20415 200

The total cost of the tiles is £52 plus VAT,
The rate of VAT is 20%.

(b) Work out 20% of £52 18 o \ 0 o=

=

mw\on\\nu i

(Total for Question 19 is 5 marks)

1 w2g

DAC, FCB and ABE are straight lines.

Work out the size of the angle marked x.
You must give reasons for your answer,

Diagram NOT
accurately drawn

nglee 0 &
\,ﬁ Q_Pmr .ﬁi
= &.%

?P%@

E
_ Fo (angle
ow WMNSH xm.qo e
vy o KO
. &

. - ko

(Total for Question 20 is 5 marks)
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23 Mason is doing a survey to find out how mary magazines people buy.

He uses this question on his questionnaire.

How many magazines do you buy?
L [
Oto4 4108 St 12
(2) Write down two things wrong with this question,
. No jme..... Peedod.
oovellapping | dox s
T
(b} Write a better question for Mason to use on his questionnaire to find out how many
magazings people buy.
. do ouw b
bow many magaeine Ge yew 28I
_ Aw
O el D
w _ . H_. q | = 3ﬂﬁm‘|_.\ra3_oc
0—4 5-8 -
{2

Mason asks his fricnds at school to do his questionnaire,

This may not be & good sample to use.

(c) Give one reason why.
R nas ymeodo  will be op e
# ‘ cx b
_Similac Tage, so Mvis  witl neot e
W;éghﬁﬁxﬁﬁﬁameW% o he %O%CNB&&Owr
(Total for Question 23 is § marks)

21
AR R0 0O 00 0 Toraver
P4 3 58 9 A0 21 2 4

~

24 The equation
X +2x=110
has a solution between 4 and 5

Use z trial and improvement method to find this solution.
Give your answer correct to one decimal place.
You must show ALL your working.

. %.W:nl\ L =110

2C

: 3490= 72 | 4oo fmall,

1 5. = SR small
| 4. 43 i« w\.%ﬂ too S _

£y 4 A4 Fo4 4 .ll\tll.!]l..rnl

(Total for

Question 24 is 4 marks)

jcq: &45

Sraall

i{6. %515

5g

i 10179

big

10, D45

lorreek

mmb?&& o

ﬁ&moﬁ\gm
E&Sv
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